C\'\(Af-&u ll | Gpu( y A J Chamkar" f)zﬂf//f.l

28 * g
& ’m';wu, dia. -

P ]
Guem . W=28in Dia A= din Squg = 1354 Vwaler = 4-%I '1”/:
SJN: oa Dia 62 2 9° 32-?-{"/;‘ 7" Fromeoo

Eguallon  feedes ) -
Recnoylli Eto\u\'\caﬂ _&K_+ y',_ +24 T .&. « g.—"— + Zp
» Y- w2g ¥ 9
. = - &
Flow rate — (‘; = Vuh = Ve a
Acen — A=Yt

Plug 1n the Flow cele C(tvw\"‘mn to Bernowlli’s eguelion

Q/"(_‘_ _,_.L - PB-PA ' (Zﬂ—zrh
29 LA2 Ag® Y
- P
Solwe for Q . 29 Pa=Fa & (zn*zu\
’ I -
AAZ Ael

Nad

On4 Yy ((Za- 28 )+ Ve W) - Yﬂah' Yoil V) = Pg

Po-0n _ (zp-20)* (l'éﬁ »
‘(\.\3 Q)o.\ ‘\7

Scanned with CamScanner



f}\\) n o G) ['(ou_i}'«n

Solvt e Dres

5 2 e »
kQ:‘ :j (l’ -ﬂ_”j\ h AI\: ('IL{"MQ: %(qln\ - lz.fbm‘
SA0
\ | (lz.',(.,/» .!ﬂi%,'_‘[);-ﬂ\
T X
An Agt s o.oe7z2{¥2
A ! ’ %-’ (-U-D,"': ﬂ(;,,}" = 2.4 tet
m
» gy ML
H‘f}“‘ C'Wﬂﬂkvt) we powd ( ZA4in® x e X 12

= o.0z2¢ £ <

5 4
G o= Geafep) (- 230 205 ()

| (
(o.cs7382) ~ (0 0z

Q- ~2116.4]
Q= \\.o;q JEPZ ’

Scanned with CamScanner




¥3/22

Find ke o je '
VIT 29(2.-21) = J/(Wﬁ—ﬂ?%)}

> Ja@gws’) (26m-q2sm)

“ [ 2swys?) (1.675m)

gwp

2049~ %ﬁ»/;’ ¢

- =53 mss

y- ’»lsc,,,/s - 24 K < 17

2491 mp7)

wﬂ/

675+ 5 = m

g

T

26m

Scanned with CamScanner



